


Af () = f (x+h)— f(x)

A2 f(x)=A[Af(x)]

= A[f(x+h)=f(x)]
= Af(x+h)—Af(x)
=[f(x+2h)=f(x+h)]-[f(x+h)=f(x)]

= f(x+2h)=2f(x+h)+ f(x)




ATE(X)= AATE (X))}

=A{f(x+2h)=2f(x+h)+ f(x)}
= Af(x+2h)—2Af(x+h)+Af(x)

={f(x+3h)- f(x+2h)}
—2{f(x+2h)- f(x+h)}
+{f(x+h)-f(x)}

B (x)= f(x+2h)—2f(x+h)+ f(x)

Af(x)= f(x+h)=f(x)

Af?(x)= f(x+2h)=2f(x+h)+ f(x)

AF3(x)= f(x+3h)=3F(x+2h)+3f(x+h)= f(x)




Af(x)= f(x+h)=f(x)

Af?(x)= f(x+2h)=2f(x+h)+ f(x)

AF3(x)= f(x+3h)=3F(x+2h)+3f(x+h)= f(x)

AF(x)= (~1)" : f(x+rh)

AF3(0)= A1 (1)-A%(0)

f(x) Af(X) Af(x) Af(X)




f(x)=2x%-x+1

Af(x)= f(x+1)= f(x)

f(x) Af(x) AF(x) A*f(X)
Af(x)=[2(x+1

=4x+1

A F(x)=[4(x+
=4

Af(x)=4-4=0

% 2.1 f(z)=2z'"—z2+] OXGH
f(z) df(z) Af(z) Lf(=z)
1
2
7
16
29
46
67

92




(3) Alaf (x)+bg(x)]=

aAf (x)+bAg(x)
Ax=(x+h)—x=h

4) ALT(x)g(x)]= f(x+h)Ag(x)+g(x)Af (x)

AL ()g(x)]= f(x+h)g(x+h)—f(x)g(x)

= f(x+h){g(x+h)-g(x)}
+{f(x+h)—f(x)jg(x)
= f(x+h)Ag(x)+g(x)Af(x)




' (4) ALF()9(x)]= F(x+h)AG(X)+g(x)AF(X)
g =g(x+h)Af(x)+ f(x)Ag(x)

AL ()g(x)]= f(x+h)g(x+h)—f(x)g(x)

={f(x+h)-f(x)lg(x+h)
+ f(x){g(x+h)-g(x)
=Af(x)g(x+h)+ f(x)Ag(x)

(5) A{

f(x)}_ f(x+h) f(x)

g(x) | g(x+h) g(x)

_ f(x+h)g(x)— f(x)g(x+h)
g(x+h)g(x)

_ f(x+h)a(x)- F(x)g(x+h)
g(x+h)g(x)

_ 9(x)Af (x) - f(x)Ag(X)
g(x+h)g(x)




_ ax+h i a.x
= (a" -1)a”

(7) Asin(ax +b) =sin[a(x + h) + b]-sin( ax + b)

a(x+h)+b—(ax+o)COS ai(x+h)+b+ax+Db
2 2

= 25sin ﬂcos a[x+£}+b
2 2
sin A —sin B = 2sin A;B

= 2sin

8) Alog, x=log,(x+h)—log, x
X+h h
[o]o] » oge(+x)

© AF0g0]=2

k
j=0

G)A“ f(x+ jh)Alg(x)

AT (X)g(x)]= f (x+h)Ag(x) +g(X)Af (x)




x{" = X(x=1)(x=2) - (x = (n-1))

—_———
n

=7 x6 x5 x4 = 840
=3 x2x1=26

AX™ = {(x+1)x - (x= (n=2))} - {x(x 1) --- (x = (n - 1))}

=[(x+2)= (x=(n-1)x(x~1) -+ (x~(n~2))

-1)

= nx®

X =l




